XYZ,,10=94.8136 , 100.0 , 107. 3:8* 10
A*10=500 @10~ a'n,10 vais

B*10= 500 0’10~ b"n10 Y36 Vg
a'10= a0 [X10/Y10 + 1] .
b'10=bao [210y10+ 1/6 3
ago = 1/15 = 0.06666
boo = ~1/12 = ~0.08333Cme
n = D65 .

120

LABHNU1_79; D65120
Optimalfarben (0); m
6 von maximalem (m)Cpg;
Buntheit (A*1q, B*10);
Name und Spektral ereich:
Rme570_770 Ype 510_770
Gme470_570 G, 380_570
Bme 380_510 M, 570_470
R, 570_440 G 520_570

r-120

0-001130-LO

BG991-8A 2




XYZ4,1~96.7256 , 100.0 , 8141+,

A*10=500 @10~ a'n,10 v
B*19=500 b'10~b'n,10 Y
a'10= a0 [X10/Y10 + 1] Go
b'10=bao[z10y10+ V6 2 @
ago = 1/15 = 0.06666

byo = ~1/12 = ~0.08333g,
n = D50 )

'me

r 120

LABHNU1_79; D50120
Optimalfarben (0); m
6 von maximalem (m)Cpg;
Buntheit (A*1q, B*10);
Name und Spektral ereich:
Rme570_770 Ype 510_770
Gme470_570 G, 380_570
Bme 380_510 M, 570_470
R, 570_440 G 520_570

T-120

0-001130-LO

BG991-8A 2




XYZ,,10=99.8033 , 100.0, 75.8
A*10=500 @10~ a'n,10 vas
B*19=500 b'10~b'n,10 Y
a'10= a0 [X10/Y10 + 1] G,
b'10= b [210Y10+ U6 IR @
ago = 1/15 = 0.06666

boo= -1/12 = —04083336
n = P45

'me

T 120

LABHNU1_79; P45120 c
Optimalfarben (0); m
6 von maximalem (m)Cpg;
Buntheit (A*1q, B*10);
Name und Spektral ereich:
Rme570_770 Ype 510_770
Gme470_570 G, 380_570
Bme 380_510 M, 570_470
R, 570_440 G 520_570

T-120

0-001130-LO

BG991-8A 2




XYZyy1~111.15 ,100.0, 35.19 g,

A*10=500 @'10~a'n, 10 yass
B*19=500 b'10~b'n,10 Y
a'10=ag [X10/y10 + 1
b'10=bao [210y10+ 1/6 3 G
ago = 1/15 = 0.06666
byo = ~1/12 = ~0.08333
n=A00

G

T 120

LABHNUL_79; A00 120,
Optimalfarben (o);

6 von maximalem (m)Cpg;
Buntheit (A*1q, B*10);
Name und Spektral ereich:
Rme570_770 Ype 510_770
Gme470_570 G, 380_570

Bme 380 510 M, 570_470 T-120
R, 570_440 G 520_570
0-001130-LO BG991-8A_2




XYZ,,10=99.9908 , 99.9999 , 100g> 10
A*19=500 @'19= 2" 10 Y
B*19=500 b'10~b'n,10 Y&
a'10= a0 [X10/Y10 + 1] 0
b'0=bog [ady10+ V6 13 @
ao = 1/15 = 0.06666

byo = ~1/12 = -0.0833%me
n =EO0

Yme

120

|
LABHNUL 79; EO0120
Optimalfarben (0);

6 von maximalem (m)Cpg;
Buntheit (A*1q, B*10);

m

Name und Spektralbereich:
Rme570_770 Ype 510_770
Gme 470_570 G, 380_570
Bme 380 510 M, 570_470 T-120
R, 570_440 G 520_570
BG991-8A_2

0-001130-LO




XYZ,,1=97.2866 , 100.0 , 11614+,

A*10=500 @10~ a'n,10 vais

B*10=500 b'10~ bnm)Yl’
a'10= a0 [X10/Y10 + 1]
b'10=bao [210y10+ 1/6 3
ago = 1/15 = 0.06666

byo = ~1/12 = ~0.08333°me
n = Co0 )

3@ Yme

120

LABHNU1_79; o120
Optimalfarben (0);

6 von maximalem (m)Cpg;
Buntheit (A*1q, B*10);
Name und Spektral ereich:
Rme570_770 Ype 510_770
Gme470_570 G, 380_570

Crm

Bme 380_510 M, 570_470

R, 570_440 G 520_570

r-120

0-001130-LO

BG991-8A 2




XYZ41-102.375 , 1000, 8125+,
A*10=500 @10~ a'n,10 v
B*19=500 b'10~b'n,10 Y

a'10= a0 [X10/Y10 + 1] G, Yme
b'10=bao[z10y10+ U6 2 @
ago = 1/15 = 0.06666
boo= -1/12 = —04083333
n = P00

'me

r 120

LABHNU1_79; Potrlzo c
Optimalfarben (0); m
6 von maximalem (m)Cpg;
Buntheit (A*1q, B*10);
Name und Spektral ereich:
Rme570_770 Ype 510_770
Gme 470_570 G, 380570
Bme 380_510 M, 570_470
R, 570_440 G 520_570

T-120

0-001130-LO

BG991-8A 2




XYZ,,1~98.4058 , 100.0 , 1225+

A*10=500 @10~ a'n,10 vz

B*10= 500 b'19=b'n10 YV, Ymg

a'10=ag [X10/y10 + 1 .
b'10=bao [210y10+ 1/6 3
a9 = 1/15 = 0.06666
byo = ~1/12 = ~0.08333
n = Q00 )

120

LABHNUL 79; Q00120
Optimalfarben (0); m
6 von maximalem (m)Cpg;
Buntheit (A*1q, B*10);
Name und Spektral ereich:
Rme570_770 Ype 510_770
Gme470_570 G, 380_570
Bme 380_510 M, 570_470
R, 570_440 G 520_570

-120

0-001130-LO

BG991-8A 2



